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R}O0Y 565¢roBo

9693000 BYOOY R>OJdb6s:

F(w) = +::° f (t) exp(iot)dt
ft)= L O.OF (o) exp(—iwt)dw
27 *

—00

NI
ROV
— iy

SRy

F*(—a)) — F(a)) len T

) - Ogeyco;
F(w) — 3003¢gdbm®o;

R0D03M0 BMbBJ300L MO0y Lobob LodgEH®O; ' Rewm

BYOH0Y 3HJd6oL M30l9dgd0

139MH3MDoEos:

f,(t)+ f,(t) = F (o) + F, (o)
wbgocsee [ £,(0) F,(t—7)d7 > Fy(0)F,(0)
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P6O8030 ©oxgM96305mMOO 356G MEmgdol BGMH0Yg 565¢woBo
56596M0933560M3560 O0G. obEmegds:

d’f@, i
dt

e +a5 T (1) =9(t)

RMMog Laby:
— 0°F (o) +iaoF (o) + o) F (0) = G(w)

502906000 496GHM@Wgds 019 IMbgHbs 0bBHYAMsOl 5Mgds:
+00
G(w) = j g(t) exp(ict)dt

= N 600l 9603350m3560 ©0g. 336EmEgds ddogo 3mgn0E0goEHYd0m:

df)y  d™() df (t)
a—>+a ,———+..a——+a,f(t)=0
n dtn + n-1 dtnfl + a:l. dt + 0 ()

RMO09 3590l 9999R9© 303300 obEMmegdol bdgdGML:

a (-iw)"+a,_ (-iw)"" +..—ajiv+a, =0

59mboblbol smygbs:

f (1) :iTF(a)) exp(—iat)dt

= N 600l 960335003560 ©0g. 356EM™Egds (33¢500 3980E0Y6EJd0m:

o PO, 9O IO mrm=0,  a®-a

" dt" dt"t dt
. dF(w)
(F80350) 3305@0 3m9B0E0IBEHOL FriH0g §sdews: aoff (t) > i 4o
i i . dF
[an (-iw)" +a,, (o))" +..+a, ]F(a)) +ia (@) _ 0

N ©0g0b ©0g. 35bEMmgds w530 9M90 1o Hogol o0g. ob@megds.
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365399900l 53353905 30¢EdIMEHOL 5MESJBol Agmmmoo

1

Bogboeo (39JE™60): S(t)

08f
06F

o ML OHOL Logbsgrols dgolio H33EOEHWS O FoBH? nal
e Loabowol ®5 bsffoos 3s6H:dmbovero/3gmomomwo, o2
@5 65 bsfowols s39Gmomeo? ’

0zt
04t

»b0gb3¢rol 36eap9lom980l/ R HEs00b Ggoremgdo “ s}

0B

%@6:‘]8001) 30@?)36)(2_5)01) 60%0({)0)(’)3?)()2 Y020 a0 & 8 10 1w 10 0 180 0
D(t) = S(t) +iS,, (t)

Lo BB 300U 565¢POBMEOO Q5BIODMGdS 3909905 30¢dIMHEHOL Q5MoJdboo:
2 '7S(r
5. (0 = [2Dqe
Toil—1

30bgemegos: S(t), g

BrIt0g bby: Sy (@) = —is(w) sgn(w)

3563mb0eo 3083mBg6EHOL 35%ob Fobaogzergds 7/ 2 -om.

sy S(t) = Acos(amt), Sy, (t) = iAsin(at)

B0 LogBseol gsos ©s s83modnws: D(t) = S(t) +iS, (t) = A(t)e'’™

A(t) = 4/S2(8) + SZ (1)

RO 39M5Jdb0m 39JEHMOOL 30¢dgMHEHOL gooddbols Asdmmzeol 3OHMEIEIMS (>0):

1. S(t) > s(w)
2. Im[s(w)] < Re[s(w)] s(w) — sy, (@)
3. s, (w) > S, (t)

Matlab

D = hilbert(S);
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€0935¢090d:

1. ©5530620L M0 sGHMEMO:

X" (t) + 0.05 X" (t) + x(t) + x(t)* =0

03M390: X(t) @5 ®bgz0l BHEMogdBHMOool Imdzwgdo (583ods) A(t)

2. 356 96 3ol Q96GHMEgds:

X (1) = (1) X' (1) +x(t) =0

03M390: X(t) 5 HHg30L BHE99dBHMMO00L IMIZ3egdo (583¢0EW©) A(t)

@b B0 58b3bL60lL 535 BB 3063 BgH0 (X,X )5

©0oL3MgHYIO BYMOY J3MJdbs

03009 3f3M030:

N
X () = > x( ol 2
j=1

N
() = 13 X (a0
N &

a)N EeZIﬂ/N N < 0

39d&mco:  X(1), X(2), ..., X(N)
g9&09 babg: X(1), X(2), ..., X(N)

fftshift (0-2pi) -> (-pi,+pi)

UEHO6IO GO OLIOYEWIO QST: ft

XiL), Al

dévdt

X(L), Adt)

L)

Bt —wmt

0 50 100 0 50 100
lime lime

2 MAMMMMMAAMAMAAAAY

time

LFGox0 5399609 godws (fast Fourier transform): fft / ifft (N=2n, og: 512, 1024, ...)
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Matlab
< Figure 1 : =108 x|
File Edit Wiew Insert Tools Deskiop Window Help Ak
>> 1t0=0: DEH&|raame £|08 =
>> tfin = 100;
>> dt=0.1; 1or
120 F
>> t = (t0:dt:tfin); 100}
>> T = tFin-t0; 0
>> N = length(t); wl
>> f = sin(2*pi*t) + 0.1*rand(1,N); o
20+
>> G = fre(h); R T— S
> p I Ot(t real (G)) - -QDD 10 20 30 11;] 50 B0 70 B;:I 50 100
969M300b B3gdAMee o Lod3zMoz) TR RT=IE
DEu& 5RO 0080 i
>> GG = Fftshift(G); 250
>> Eomega = abs(GG) ."2; a0}
>> plot(Eomega); 150l
100 -
LbobdoMggdo
a0+
Al 2
—imar — E o 200 400 500 a00 To00 1200
AL 2
Wimin — _T B =10lx|
Flle Edit ‘iew Insert Tools Deskkop Window Help £l
&S kaaNs (€ 08 =0
260
w = ':r - =":'ln'i-'-f'1l:u1-:.',.r:f-"l2 ; a"j\-"-i-"méﬂ, : ﬂ'i-'-"'mcm;"lg J
200
160
>> omega = (-pi/dt : 2*pi/T : pi/dt );
>> plot(omega,Eomega); >
50+
-Dfiﬂ 30 -26 10 u] 10 26 3ID 40
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To do:
Matlab Functions:

fft
ftshift
ifft

€0935¢090d:

1. B55@ 969 dBob ¢oggdols ®oEbgzol b3gdE®ow Mo sbseroBo M™Po (Matlab sunspot dmbs399990):
load sunspot.dat

year=sunspot(:,1);

wolf=sunspot(:,2);

030390 B0l ogdgdol 35005300l 39M0MEYd0;

2. Bss@otgo Matlab chirp 8mbs3gdgdol Ldgd@Gemowv®o sbsewobo:

X = chirp(t,0,1,Fs/6);

3. Bo5@9M90 8m3389wo 36300l Ldgd@mow Mo sbswobo:
ft)=sin(t) exp( 0.2 t) + cos(3t) exp(-0.1t) + 0.2 rand

. Plot E(omega) vs. omega

. Plot Re(F) vs. Im(F)

. Gl(omega) = F(omega) + random (physical) noise iIn phase;

. G2(omega) = F(omega) + random (physical) noise in amplitude;
. plot on single graph: f(t), f1(t), f2(t)

ahrhwWNBE

Random noise: Max amplitude = 0.2*Max(F);
F = A*exp(i*pht) : A — Amplitude; phi — phase;
fl = ifft G1
2 = ifft G2
. subplot(2,2,1); plot 7 (t) vs ()

. subplot(2,2,2); plot f1” vs Tl
. subplot(2,2,3); plot 2”7 vs f2

0o ~NO®
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©5656m0: 365¢0BMo BMbJ300L BMEMOY 3B sgIbgdoL bMowo

3096J30s B0y bby 36J30s BO0Y Loby
@) - : iy
T
1 > — i
Ef_mf(i’)ﬁ dx 2o -2 Sin(?ra'/Q)l;Ea'—l— 1)
1 27 - d(w) Vam ]
1 21
o(z) E sen() T iw
: 1
o V2r 8w —a) u() /3 (5 +0)
d{w—a)+d(w—+a — =
cos(azx) Vo - > S 5z — nT) @ S (o.. } 2)
1 2 n=—oa k=—o0
cos(ax?) V2% cos (Z_a — %) \/?T/Q
| log |z| Tl V216 (w)
r" 1"V 2™ (w)
P e \/E a—1
(Fix) a (ﬂ.)u(:lzw) (+w)
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30039d) (wavelet) go6@sgdbs

RO oMogddbs 2356396901 13gdGOL (LObToEMYIOL), BogMB 565 0BSL OHMOL MO Mo BMb339mT0 RsbL gls
Lobdomg.

mll
s E
= =3
T
W <
Time Frequency -
Short time Fourier analysis (Gabor)
window T
m“ . oy
E |'Illr .-" |IIII .. "'. @
g / | g
o ) II|I ..II'-_‘_ III t
Time - TIIT]E
3903¢gHhgoo:
ﬂ
I
—\|lp—
|
Sine Wave Wavelet (db10)
| A Fourier
[
! |
! . Transform
'I | | Wavelet |un.-
| | | | Transform "\‘/\/‘U J\&._
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P9396¢0 39039 39O©sgd6s (WT)

scale 3903w9GH0oL sbdEod0
position 39031930l 3mboEos

C(scale, pos) = J' f (t)W(scale, pos,t)dt

xr—b
Wof] (a.h) = f [ o (50 e
3sbd@s00:
—*“\Jf\/_ A =wy(@) : a=1
a:‘—;\[\}H_ A =w(2) . a= %
v:n M & A EW e LR 1R (WD 1ER e ) | B 1
0:_,‘“‘\_ flty =w(ds) : a= 1
3mbogos:
Al
U
Wavelet function Shifted wavelet function
V(1) y(t—k)

Scale

[l

Il

2950 4000 40350 4100 4150 4-200 4250

Time
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Daubechies wavelets (dbN)

Wesed Lnicin ps

Symlets

ekt LECHON pE|

WErAE neen pa

Wkl Al on el

_’\Jﬂ|

3003gHgdol mxsbgdo

Wk fancion

&

i
uj Iul

: |
“: " )Ux_

db4
Viaves indion ol
05
a5 \ I

db7 db8
g A
ﬂf

Wipwalel unedon pri

ng | ]
n

ﬂﬁ_—ﬂ'u |‘
' ]

‘Werredz! bun cion pai

05 "
o |

[ - |

Warvd el uncion pa

dbb db6
“Wavesst Wt ion el Wil Mireson pel
“ ns
W‘— I
db9 db10
n-ls I"I p
R
_J’Hl J \,fﬂ_ o ‘I"|
symd symb
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Wavelet dsg9¢0mo0
load noissin;
figure(l);
plot(noissin);
c = cwt(noissin,1:48,"db4%);
figure(2);
mesh(c);
view(0,90);
15 "
1 1 ’
0.5 E = .
0
-0.5}F
BN
-1.5

1 1 1 1 1 1 1 1 1
0 100 200 300 400 500 600 700 800 900 1000

e —
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Matlab: wscalogram

Fs = 1000;
fc = centfrq("cmorl-17);
% a = fc/(freg*dt)

freqrange = [20 150];

scalerange = fc./(freqrange*(1/Fs));

t = linspace(0,5,5e3);

X = cos(2*pi*100*t) . *(t<l)+cos(2*pi*50*t) . *(3<t)+0.3*randn(size(t));

C=cwt(x",1:200, "db4*);

mesh(C);
view(0,90);
200
180
160
140
120
100
80
B0
40
* e R
VZD 560 WDhD WEhD ZDIDD 25‘DD EDhD 35‘DD ADIDD dﬁhﬂ 5000 DU 500 1000 1500 2000 2500 3000 3500 4000 4500 5000
scales = scalerange(end):0.2:scalerange(l);
Coeffs = cwt(x,scales,"cmorl-17);

SCImg = wscalogram(~image*,Coeffs, "scales”,scales, "ydata“,x, "xdata",t);

Analyzed Signal

Scalogram
Percentage of energy for each wavelet coefficient

46,4667
46,2667
44,0667
41.6667
39.6667
37 4667
35,2667
33.0667
30,6667
28,6667
26,4567

Scales a

24 2667

220867
198667
17 BEB7
15 4667
13.2667

W b e

b BEEGT
1}

2 25 3
Tirne (or Space) b
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load sunspot.dat
year=sunspot(:,1);
wolf=sunspot(:,2);

SCALES=50;

c = cwt(wolf,1:SCALES, "db4");
surf(c);

view(0,90);
shading interp;

10

X0,
o
*n
o,
i)
|
bl
wfl
g
al
al

o B




